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SIat2470, Quiz #11,

Instructions: Show all
you do, 'show work' by
entered. Round measu

places (or percent plus dec imal  p lace) .
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2. Wri te the conf i interval  above in terms of the standard
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3.  The NSF reported thaI26% Americans do not knowt

Sun. l f  1500 peQple were surveyed, what is the standard erro
that don' t  know that the Earth revolves around the Sun? Wh
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You may use your calculator rather than compute formulas by hand, but i f
rying which program you used to obtain the result and what information you
s of center to one decimal place more than ihe data, and variance/standard

I places more than the original data, Round f irobabil i t ies to three decimal
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